24105 /NEIBEHIRBR 4T |, WHEARER RS

7= miiEA

M
T, W4 1.1213 HAEN 1.4112,
12 | #H 1.3505 HAEEMN 1.4034,

K
RITEN B LTRSS | BREEAXE 62 +2 HRC HAH LB,
BR:

e TR MEA XA SRR/ NERKLT, #HERSTEL
Ho BWERNER.

BIERESER C5 HliE, XML , EEHMEERK (JKAK
0.008 mm ) »

ATXZE. EmIi, B3it. BFER, EXITL, FERITHER
ERRAR

AR

FRMLIBREARNBELRS , BURBRSER,

© norelem www.norelem.com



24105 NEIEHIRHRZAL |, WEA RN B R IER

0,009
oy
o)
000B[A]
0,005 14 0,008
Ly
@
© =< N~ o 2
= Lo &) o) g = =
<t o | S
o] Q Q1 m‘ [y =
A | |
1 [
| i
16 | L7 L10_
L9l 1 18 Lt
__ LH | L3 |
- L =
24105-0810050 ME 8 1 (50| 16 | M14x1 | 6 | M8x1 | 8 [11,5|57 6 [148| 22 |8[102| 90 [37/10/9 4|8 | 4 |6,8]0,8
24105-0810100 ME 8 1 (100| 16 | M14x1 | 6 | M8x1 | 8 [11,5|57 6 (198| 22 |8|152|140(37|10/9 4|8 | 4 |6,8]0,8
24105-0810150 WH 8 1 (150 16 | M14x1 | 6 | M8x1 | 8 [11,5|5,7 6 |248| 22 |8(202|/190(37|10/9 |4 (8| 4 |6,8]0,8
24105-0820050 ME 8 2 (50| 16 | M14x1 | 6| M8x1 | 8 [11,5|57 6 [148| 27 |8[102| 90 [37/10/9 4|8 | 4 |6,8]0,8
24105-0820100 & 8 2 |100| 16 | M14x1 | 6 | M8x1 | 8 |11,5|57 6 |198| 27 |8|152|140/37|10/9 4|8 | 4 |6,8|0,8
24105-0820150 ME 8 2 (150 16 | M14x1 | 6 | M8x1 | 8 [11,5|5,7 6 |248| 27 |8(202|/190(37|10/9 4|8 | 4 |6,8]0,8
24105-1020050 MEH 10 2 |50 | 18 | M16x1 | 6 | M8x1 | 8 [11,5(57 6 [158|28,5|7 |112|100(37(10/ 9|4 |8 | 4 [6,8|0,8
24105-1020100 #MH 10 2 [100| 18 | M16x1 | 6 | M8x1 | 8 [11,5|5,7 6 (208|28,5|7 (162|150(37|10/9 |4 (8| 4 |6,8]0,8
24105-1020150 eME 10 2 (150 18 | M16x1 | 6 | M8x1 | 8 [11,5|5,7 6 |258|28,5|7(212|200(37|10/9 4|8 | 4 |6,8]0,8
24105-1020200 % 10 2 [200] 18 | M16x1 | 6 | M8x1 | 8 [11,5]5,7 6 |308|28,5|7 |262|250(37(10/9 4|8 | 4 [6,8/0,8
24105-1220050 MH 12 2 |50 (20,5 M18x1 | 8 | M10x1 |10| 14 |7,6 8 [180| 29 [10(125|110/45/15/10/5(10/ 5 |7,9]0,9
24105-1220100 MFH 12 2 [100]20,5| M18x1 | 8 | M10x1 [10| 14 |7,6 8 [230| 29 [10/175|160(45(15/10/5 (10| 5 [7,9/0,9
24105-1220150 WH 12 2 [150(20,5| M18x1 | 8 | M10x1 |10| 14 |7,6 8 [280| 29 |10]/225|210(45/15/10/5 (10| 5 |7,9]0,9
24105-1220200 eME 12 2 [200(20,5| M18x1 | 8 | M10x1 |10| 14 |7,6 8 [330| 29 |10]/275|260(45/15/10/ 5(10/ 5 |7,9]0,9
24105-1220250 ME 12 2 [250(20,5| M18x1 | 8 | M10x1 [10| 14 |7,6 8 [380| 29 [10/325|310(45(15/10/5 (10| 5 [7,9/0,9
24105-10810050 4 8 1|50| 16 | M14x1 |6 | M8x1 |8 [11,5|57 6 [148| 22 | 8|102| 90 |37|]10/9|4|8| 4 |6,8/0,8
FW

© norelem www.norelem.com



24105 NEIEHIRHRZAL |, WEA RN B R IER

24105-10810100 £~ 8 1100 16 | M14x1 | 6 | M8x1 |8 |11,5|57 6 |198| 22 |8 |152|140(37(10/9 /4 /8| 4 |6,8|0,8
B
24105-10810150 £~ 8 1]150| 16 | M14x1 | 6 | M8x1 | 8 |11,5(5,7 6 |248| 22 |8|202|190(37|10/9 |4 8| 4 |6,8|0,8
Gk
24105-10820050 4~ 8 2|50 16 | M14x1 | 6 | M8x1 | 8 |11,5|5,7 6 |148| 27 |8 |102| 90 (37|10/9 |4 8| 4 |6,8|0,8
B
24105-10820100 4~ 8 2/100| 16 | M14x1 | 6 | M8x1 | 8 |11,5|5,7 6 |198| 27 |8 |152|140(37|10/9 |4 8| 4 |6,8|0,8
Gk
24105-10820150 ~ 8 2 |150| 16 | M14x1 | 6 | M8x1 | 8 |11,5|57 6 |248| 27 |8|202|190(37(10/9|/4 /8| 4 |6,8|0,8
Gk
24105-11020050 A~ 10 2 |50| 18 | M16x1 | 6 | M8x1 |10|11,5|5,7 6 |158|28,5|10/112|/100(37|10/9|4|8| 4 [6,8|0,8
Gk
24105-11020100 A~ 10 2 |100| 18 | M16x1 | 6 | M8x1 |10|11,5|5,7 6 |208|28,5|10/162|150|37|10/9|4|8| 4 [6,8|0,8
B
24105-11020150 £ 10 2 |150| 18 | M16x1 | 6 | M8x1 |10|11,5|5,7 6 |258|28,5|10/212|200(37(10/9 /4|8 | 4 |6,8|0,8
FW
24105-11020200 £ 10 2 |200| 18 | M16x1 | 6 | M8x1 |10|11,5|5,7 6 |308|28,5|10/262|250(37(10/9|/4|/8| 4 |6,8|0,8
FW
24105-11220050 A 12 2 |50 |205| M18x1 | 8 | M10x1 (12| 14 |76 8 |180| 29 |12|125|110|45|15/10/5 10| 5 |7,9/0,9
#W
24105-11220100 £ 12 2 |100|20,5| M18x1 | 8 | M10x1 (12| 14 |76 8 |230| 29 |12|175|160|45/15/10/ 5 |10| 5 |7,9/0,9
Gk
24105-11220150 £ 12 2 /150|20,5| M18x1 | 8 | M10x1 |12| 14 |7,6 8 |280| 29 |12|225|210|45/15/10/5 (10| 5 |7,9|0,9
Gk
24105-11220200 £ 12 2 /200|20,5| M18x1 | 8 | M10x1 |12| 14 |7,6 8 |330| 29 |12|275|260|45/15/10/5 (10| 5 |7,9|0,9
ki)
24105-11220250 £ 12 2 |250|20,5| M18x1 | 8 | M10x1 (12| 14 |7,6 8 |380| 29 |12|325|310|45/15/10/5 |10/ 5 |7,9|0,9
B
24105-0810050 AR 10 1x3 2°13 0,8 700 1300 3200
24105-0810100 P 10 1x3 2°13 0,8 700 1300 3200
24105-0810150 bl 10 1x3 2°13 0,8 700 1300 3200
24105-0820050 I 10 1x3 4° 23 1,6 1350 2250 4200
24105-0820100 M 10 1x3 4° 23 1,6 1350 2250 4200
24105-0820150 Ml 10 1x3 4° 23 1,6 1350 2250 4200
24105-1020050 P E 10 1x3 2°32 1,6 1500 2900 4000
24105-1020100 Ml 10 1x3 2°32 1,6 1500 2900 4000
24105-1020150 L 10 1x3 2°32 1,6 1500 2900 4000
24105-1020200 M E 10 1x3 2°32 1,6 1500 2900 4000
24105-1220050 Ml 12 1x3 2° 58 1,6 1700 3700 3400
24105-1220100 I 12 1x3 2° 58’ 1,6 1700 3700 3400
24105-1220150 Ml 12 1x3 2° 58 1,6 1700 3700 3400
24105-1220200 L 12 1x3 2° 58 1,6 1700 3700 3400
24105-1220250 P 12 1x3 2° 58’ 1,6 1700 3700 3400
24105-10810050 TN 10 1x3 2°13 0,8 670 1290 3000
24105-10810100 M 10 1x3 2°13 0,8 670 1290 3000
24105-10810150 TN 10 1x3 2°13 0,8 670 1290 3000
24105-10820050 TEM 10 1x3 4° 23 1,6 900 1500 3000
24105-10820100 THN 10 1x3 4° 23 1,6 900 1500 3000
24105-10820150 TN 10 1x3 4° 23 1,6 900 1500 3000
24105-11020050 M 10 1x3 2°32 1,6 1500 2900 3000
24105-11020100 TN 10 1x3 2°32 1,6 1500 2900 3000
24105-11020150 TEN 10 1x3 2° 32 1,6 1500 2900 3000
24105-11020200 85N 10 1x3 2°32 1,6 1500 2900 3000
24105-11220050 TEN 12 1x3 2° 58 1,6 1660 3620 3000
24105-11220100 TEM 12 1x3 2° 58 1,6 1660 3620 3000
24105-11220150 THN 12 1x3 2° 58 1,6 1660 3620 3000
24105-11220200 TN 12 1x3 2° 58 1,6 1660 3620 3000
24105-11220250 TN 12 1x3 2° 58’ 1,6 1660 3620 3000

© norelem www.norelem.com



24105 /NEIBEHIRBR 4T |, WHEARER RS

© norelem www.norelem.com



